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A= decomplu A decompldu A
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LDU =b

UTDhU =b

decomp_m_choleski A
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| 100/2 0 0|1 0.50.5]
0.5 1 0|0 _1 0|0 1 2]
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AO=:2 46 28,1 15 7,:4 1221

AQ
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] tmpl=. decomp_ldu A®
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| 1 0 0[2 O 01 2 31
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cr=. %.}:"1

NB. cramer method

mp=: +.* NB. Inner product

LmpU
>{. tmp) +/ . * >{:tmp=. decomp_lu }:"1 AO®
2 46
1_15
4 12

LmpDmpU
CoO{tmp)+/ . *CG1{tmpl)+/ . * >2{tmpl=.decomp_ldu }:"1 AQ
2 46
1_15
4 12

Uly=b

DUx =y

cr A9

cramer method cr AQ

100 3.81818
010 3.18182
00 1 1.27273




UTly=b
] tmp2=. 28 7 21 %. ( >0{tmpl)
28 _7 _18.6667

DUx =y
28 _7 _18.6667 %. (c1{tmpl) +/ . * >2{tmpl
3.81817 3.18182 1.27273

m Script

require ’'numeric’
require ’“system/packages/math/matfacto.ijs’
diag=: (<0 1)&]|:

cr=: %. }:"1 NB. cramer method

decomp_lu=:3 : 0
TMP=. y
SIZE=. # y
IMAT=. =/"i.# y
Lo=. <’
for_ctr. i.<: # y do. NB. # y do.
if. 0= ctr{ctr{TMP do.
Ix=.-((G:ctr)}.ctr{"1 TMP)
else.
Ix=.-((>:ctr)}.ctr{"1 TMP)%ctr{ctr{TMP end.
IND=. (>: ctr)}. ctr{"1 i. $ vy
I0=. (2#SIZE)$ Ix (IND)},IMAT

LO=. LO,<I0

TMP=. U0O=. TMP %. %. I0
end.

NB. —---—mmmmmmmmmmmmmmo

clean L:®0 ( (+/ . */ > %. L:0 }.LO®)); UO® NB. LU



decomp_ldu=: 3 : 0
IMAT=. =/"i. # vy
LU=. decomp_lu y
NR=. diag i. $ y

D=. (2 # #y)$(diag >{: LU)(NR)},IMAT

U=. ;("D,. ({CG {: L)) % L:0 {@ diag D
clean L:0 (>{. LU);D;U

)

decomp_m_choleski=: 3 : 0

NB. modified choleski decomposition
NB. apply symmetric matrix only

LU D U’=: decomp_1ldu y

clean L:0 (|:U);D;U

)



